
 

 

 

Μετράω 10-10 ως το 50. 

 

 

Πόσο κάνουν; 

  10+10=___      10+10+10=___    10+10+10+10=___ 

  10+10+10+10+10=___ 

  10+5=___ 10+8=___  10+3=___  10+9=___ 

   10+10+4=___ 10+10+6=___  10+10+7=___ 

  10+10+10+3=___  10+10+10+5=___ 

 10+10+10+2=___     10+10+10+6=___ 

  10+10+10+10+8=___  10+10+10+10+1=___ 

Βρίσκω πόσα κρατάει η Μονάδα και πόσα η Δεκάδα. 

 

 

 

 

 

 

 

 

 

 

 

 

     

3Δ  6Μ = 10 + 10 + 10 + 6  = 36 

__Δ  __Μ = _______________________  = ______ 

ΖΩΓΡΑΦΙΖΩ (ό,τι θέλω) 
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